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The function of trypsin in the digestive system is to
break down proteins. It is a proteolytic enzyme that is
produced by the pancreas and released into the small
intestine.

Trypsin breaks down proteins into smaller molecules
called peptides, which can then be absorbed by the
body.
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The blood vessel supplying blood to the kidney is the
renal artery. It is a branch of the aorta that carries
oxygenated blood to the kidneys.

The renal artery enters the kidney at the hilum and
divides into several branches that supply blood to the
different parts of the kidney.
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Bile is stored in the gall bladder. It is a small, pear-
shaped organ that is located under the liver.

The gallbladder stores bile that is produced by the
liver. When food enters the small intestine, the
gallbladder contracts and releases bile into the
intestine. Bile helps to break down fats and absorb
nutrients.
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It is observed that liquid drop tends to contract and
appear spherical when it is set free from external forces
like gravity, etc. Surface tension is the property among
liquids due to which they tend to occupy minimum
surface area. That's why water droplet appears
spherical because, for a given volume, a sphere has a
minimum surface area. Due to this property of surface
tension liquid surface stretches and behaves like a
stretched membrane.

Surface tension is the force that acts on the surface of
a liquid, causing it to behave as if it were covered by a
stretched membrane. The surface tension of a liquid is
caused by the cohesive forces between the molecules
of the liquid. The cohesive forces are the forces of
attraction between molecules of the same kind.
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he working principle of a washing machine is
centrifugation. Centrifugation is a process that uses the
force of rotation to separate materials of different
densities.

In a washing machine, the clothes are placed in a drum
that rotates at high speed. This causes the water and
dirt to be separated from the clothes. The water and
dirt are then drained away, leaving the clothes clean.
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The festival that is celebrated in Punjab to

commemorate the formation of the Khalsa Panth is

called Vaisakhi, also known as Baisakhi.

Baisakhi marks the formation of Khalsa Panth by Guru
Gobind Singh (10th Sikh Guru).




Also marks Sikh new year and spring harvest festival.
Lohri
Marks the harvest of rabi crops and winter solstice
(days start getting longer as the sun starts moving
northward.

Hola Mohalla

Started by Guru Gobind Singh
Celebrated the day after Holi to convey the message
of courage and defense preparation.

Teej

Observed by women to celebrate the monsoons
during the months of Shravan
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The correct answer is (). International Non-Violence

Day is observed on 2 October. It is a day to
commemorate the birthday of Mahatma Gandhi, the
leader of the Indian independence movement and
pioneer of the philosophy and strategy of non-
violence.

The United Nations General Assembly declared 2
October as the International Day of Non-Violence in
2007.
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The Comptroller and Auditor General of India is a
single-member body.

Appointed by the President of India on the
recommendation of the Prime Minister of India.

He is the head of the Indian audit & account
department and chief Guardian of the public’'s money
which means he is responsible for auditing the
accounts of the government and public sector
organizations in India.

Also responsible for ensuring that the public funds are
spent in accordance with the law and proper
procedures are followed in financial transactions.

Article 148 related to CAG of India.

Term of CAG of India till 6 years / 65 years of age

The present CAG of India is Girish Chandra Murmu
First CAG of India is V. Narahari Rao
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As the river enters the plain it twists and turns forming
large S bends known as meanders.

Meanders are formed by the natural erosion and
deposition processes of the river,

Over time, this process causes the river to shift its
course and creates a winding, snake-like pattern.

An ox-bow is a U-shaped body of water formed when
a meandering river erodes the outer banks of a loop
and cuts through the narrow strip of land, creating a
free-standing body of water that is isolated from the
main channel of the river.

Levees are natural or man-made embankments or
ridges constructed along the banks of a river or other
body of water to prevent flooding.
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Alauddin Khalji was the successor, son-in-law and killer
of Jalaluddin Khalji.

Jalaluddin Khalji was the founder of the Khalji dynasty.
He was succeeded by his nephew and son-in-law
Alauddin Khalji, who overthrew and assassinated him in
1296.

Muhammad Tughlaq was the successor of Ghiyasuddin
Tughlaq, his father, and the 2nd ruler of the Tughlaq
dynasty.

Firoz Shah Tughlaq was the successor of Muhammad
Tughlaqg and the third ruler of the Tughlag dynasty.
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The correct answer is (d). Nirmala Sitharaman

presented the Union Budget 2023 for the 5th time in a

row. She is the first woman to present the Union

Budget five times in a row.

Finance Minister Nirmala Sitharaman is the sixth

minister in independent India to present five

consecutive budgets, joining a select league of legends

likes of Manmohan Singh, Arun Jaitley, and P

Chidambaram.

Sitharaman first presented the Union Budget in 2019-

20. She has also presented the Budgets for 2020-21,

2021-22, 2022-23, and 2023-24.

Some Facts:

In 2019, Sitharaman became the second woman to

have presented the budget after Indira Gandhi, who

had presented the budget for the financial year 1970-

71.

Former Prime Minister Morarji Desai who holds the tag

of presenting 10 Budgets -- the maximum number by

any finance minister -- had presented five of them in a

row. The five annual budgets were presented from

1959-60 to 1963-64 during his stint as Finance

Minister.
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The correct answer is (b). Article 17 of the Constitution

of India abolishes untouchability and declares its

practice a legal offense.

The enforcement of any disability arising out of

Untouchability shall be an offense punishable in

accordance with law.

The Protection of Civil Rights Act, 1955 was enacted by

Parliament to further this objective.|
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The original name of the Empress of India Act was the

Royal Titles Act 1876. It was instituted on 1 May 1876.

The Royal Titles Act 1876 was passed by the British

Parliament. In this Act, they gave the title of 'The

Empress of India' to Queen Victoria.

Ques 14. ANS (A) Solution:

gﬁgﬁﬁwnmﬁw%wwdm@@
I

SfgT (RINFPIA 735-756 §.), forg faar= fgdia & A

gﬂﬂﬁww%, AT & TP TH & GRS
I

DT AT Beled & [aaT &= § Rud o8t 396

SIRIYBRT I el HWT FH Y fgIA U1 I

Fled ab b

Dantidurga was associated with the Rashtrakuta ruling

dynasty of early medieval India.

Dantidurga (reigned 735-756 CE), also known as

Dantivarman Il was the founder of the Rashtrakuta

Empire of Manyakheta.

His capital was based in the Gulbarga region of

Karnataka. His successor was his uncle Krishna | who

extended his kingdom to all of Karnataka.
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The answer is (b). The Bharhut Stupa is located in the
Satna district of Madhya Pradesh.
It is a Buddhist stupa that was built in the 2nd century
BCE. The major donor for the Bharhut stupa was King
Dhanabhuti.
The Bharhut sculptures represent some of the earliest
examples of Indian and Buddhist art, later than the
monumental art of Ashoka (c. 260 BCE).
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National Highway 7 (NH 7) connects Fazilka (Punjab) to
Mana (Uttarakhand) in India.
It passes through the Indian states of Punjab, Haryana,
Himachal Pradesh, and Uttarakhand.
This road goes to Mana Pass near the India-Tibetan
border.
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Holi is celebrated in the last month of the Hindu
calendar.
Holi is celebrated in the Month of Phalguna.
Phalguna is the twelfth and last month of the year,
according to Hindu calendar.
It corresponds with February/March in the Gregorian
calendar.
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The President of India can promulgate an ordinance
under Article 123 of the Constitution of India.
Article 123 states that the President may, when both
Houses of Parliament are not in session, if he is
satisfied that circumstances exist which render it
necessary for him to take immediate action,
promulgate such ordinances as the circumstances
appear to him to require.
An ordinance has the same force and effect as an Act
of Parliament, but it ceases to operate at the end of six
weeks from the reassembly of Parliament unless it is
ratified by Parliament within that period.
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The steel plants of Rourkela, Bhilai and Durgapur were
established under the Second Five Year Plan (1956-61).
The Second Five Year Plan was a major turning point in
India's economic history. It was the first plan to focus
on industrialization and economic development. The
plan also emphasized the development of basic and
heavy industries, such as steel, coal, and power.
The steel plants of Rourkela, Bhilai and Durgapur were
part of this focus on industrialization.
They were built with the help of foreign assistance, in

cooperation with Britain, Durgapur Steel plant was
built, Rourkela Steel plant was established in
cooperation with Germany and Bhilai steel plant was
started in cooperation with Russia.
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The All-India Harijan Sevak Sangh was founded in
1932.

It was founded by Mahatma Gandhi

It was founded in Delhi.

It is an independent not for profit voluntary
Organisation.

It is also known as the All India Anti-Untouchability
League.

The main aim of the Sangh was to combat
untouchability.

Harijan Bandhua and Harijan Sevak were the two
newspapers started by Mahatma Gandhi.
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Near the earth's surface, hot air rises up whereas cold
air comes down.

The hot air rises up because gases expand as they heat
up.

The hot air is lighter (less dense) than the cold air.
When warm air rises at a place, the air pressure at that
place is lowered.

Air expands on heating and contracts on cooling.

On heating, the air expands and occupies more space.
Air always moves from a region of high pressure to a
region of low pressure.
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The cyclonic storm of the China Sea is popularly known
as typhoon.The term "typhoon" is derived from the
Chinese word "tai fung", which means "great wind".
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The answer is (b), Debashis Chatterjee.

Debashis Chatterjee is the author of the books "Krishna
- the 7th Sense" and "Karma Sutras, Leadership and
Wisdom in Uncertain Times". He is a management
consultant and author who has written extensively on
leadership, business, and spirituality.

Kerala Governor Arif Mohammed Khan released the
Malayalam translation of Krishna — the 7th Sense by
Debashis Chatterjee, Director lIM-Kozhikode.

He also unveiled the latest edition of Mr. Chatterjee's
work Karma Sutras, Leadership and Wisdom in
Uncertain Times, the lead book of the IIM-Penguin
Series for New Managers.
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The answer is (c), Khajuraho, Madhya Pradesh.

Shri Jyotiraditya M Scindia, Minister of Civil Aviation
and Steel inaugurated Heli Summit 2023 in Khajuraho,
Madhya Pradesh today. Shri Scindia also launched RCS
UDAN 5.2 and HeliSewa-App during the event.

The 5th Helicopter & Small Aircraft Summit (Heli
Summit 2023) was jointly organized by the Ministry of
Civil Aviation, in association with the Government of
Madhya Pradesh, Pawan Hans Ltd., and the Federation
of Indian Chambers of Commerce and Industry (FICCI).
The theme of the event was "Reaching the Last Mile:
Regional Connectivity through Helicopters & Small
Aircraft".
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The answer is (b).

India's tiger population is estimated to be 3,925 in
2023, with an annual growth rate of 6.1%. This was
revealed in a report released by Minister of State for
Environment, Forest and Climate Change Ashwini
Kumar on the occasion of Global Tiger Day.

This is an increase from the 2018 estimate of 2,967
tigers. The growth in the tiger population is a result of
the successful implementation of Project Tiger, a
conservation program launched by the Indian
government in 1973.

India currently harbors almost 75 percent of the
world’s wild tiger population. The largest population of
tigers is found to be in Madhya Pradesh with 785 in
numbers followed by 563 in Karnataka, 560 in
Uttarakhand, and 444 tigers in Maharashtra.

As per the report, the tiger abundance within the Tiger
Reserves is the highest of 260 tigers in Corbett
followed by 150 in Bandipur and 141 tigers in
Nagarhole.

Note - Global Tiger Day, often called International
Tiger Day, is an annual celebration to raise awareness
for tiger conservation, held annually on 29 July. It was
created in 2010 at the Saint Petersburg Tiger Summit
in Russia.
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The hardest substance in the human body is enamel. It
is the outer layer of the teeth and is made up of
hydroxyapatite, which is a very hard mineral. Enamel is
about 10 times harder than bone and is the hardest
substance in the body.
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The human heart is enclosed in a double-walled sac
called the pericardium.

The pericardium is made up of two layers: the parietal
pericardium and the visceral pericardium.

The parietal pericardium is the outer layer and is
attached to the walls of the chest. The visceral
pericardium is the inner layer and is attached to the
heart. The pericardium helps to protect the heart and
keep it in place.

Ques 28. ANS (B) Solution:

U T 3T § S IRR H U faRs &1 e ardl uardf
1 Id1G 3R 3= Sl 51 U T T st g ot
HISH &1 disdl g, A ug faedt off ueref &1 Iare o
T 7 Hrar g

YRRITS UfY GHM BT IATGA P! & Sl FaT9ad Bl
forifaa oecht 1 fieet 9fY g &1 Iae el 8 ot
3T, ToiH SIR TRR & 3 1l &I FBd e 5
SRR BTHIA BT ITTGH HRaT § SN I T & TR
3R UTer GoEHl @1 Fifd e g

A gland is an organ that produces and releases
substances that perform a specific function in the
body. The stomach is an organ that breaks down food,
but it does not produce or release any substances.
The thyroid gland produces hormones that regulate
metabolism. The pituitary gland produces hormones
that regulate growth, reproduction, and other body
functions. The pancreas produces hormones that
regulate blood sugar levels and digestive enzymes.

Ques 29. ANS (A) Solution:

wfeer Ak g A & forgd ufamon Sk fa=m 41 81d §1
3ifeRr f o I B Roraw Faa ufkmmor gar 1

AT G 3R AT HT G § | 98 TRATT 3R
= 1 &1 <o 1 fa=m 3w 1 fa=m & FwH Bit 8|
G814 Ul SPTS &t IR O a1l 9d ¢ | 399 had
GRHTT B

Sl BRI P BI & ¢ | SHH Hadt TRAT g
BT 99 3R G BT IUTG ¢ | T had URHATT |

A vector quantity is a quantity that has both
magnitude and direction. A scalar quantity is a quantity
that only has magnitude.

Momentum is the product of mass and velocity. It has
both magnitude and direction. The direction of
momentum is the same as the direction of velocity.
Pressure is the force per unit area. It only has
magnitude.

Energy is the ability to do work. It only has magnitude.
Work is the product of force and distance. It only has
magnitude.

Ques 30. ANS (C) Solution:

-’ Wea BT IUTNT Bies glop! H bl A &, Sl
ST WR o G S a1 U A o A W d g |
REemSt 71g 1 fge =, Ur B F1 FafEd B & ferg
e & i a1 "Rad vgf (qure =8 & fawid ug)) &1

SN 3 & | 9-Red qa-id H1 IudNT fafte
el & fore fopan S wava ©, SN i &1 U 63T, T
EaSIRISICSUERSIH

IRF ST P HEAYU Tec; - o, ToRETd, dHaIs
Sefticd & AU Teg - 5N, 3id, a9
alciiaicl & HE@YU Tek - fobel, 3fcap, Aie

A back-stick refers to a specific playing technique
where the player uses the "back" or "reverse" side of
the stick (the side opposite the flat face) to hit, pass, or
control the ball. Back-stick techniques can be used for
various purposes, such as passing, shooting, or
dribbling the ball.

Basketball important terms — brick, airball, backboard
Badminton important terms — brush, all, love
Volleyball important terms — Kill, attack, let

Ques 31. ANS (C) Solution:

G R A U Ja1 iR fFared wrd & Aregw §
e & 3R W WIR fea

G RH U g enffer Time § forges! R
1897 ® W fadeic = &1 ot | fiRH &1 d&d fég a3
daid o1 Rigmsll &1 TR AT 3R URdTa ATl B
grToTes fRufaal o GUR A1 g

AR &1 AT © o Rl Bt fAvared Jar & e @ Mg
T a1 o1 ehdl 8 | 8 4 31T &1 fEg SfaeRon W
3T §, St F:wared & %1 9t 81 e &1 oee
qTe § A &) 4a1 & SR Y Jar g1

iR o W, SRgare iR SFTTR gaq afgd
TR TaT ATl 3 U fawd 4ad 5| I8 TRIal
3R BIRA WR S A & IUH P o Wt d1H a8
@, W (o) &

The Ramakrishna Mission stressed the ideal of
salvation through social service and selfless action.
The Ramakrishna Mission is a Hindu religious
organization founded by Swami Vivekananda in 1897.
The mission's goal is to spread the teachings of
Vedanta, a Hindu philosophy, and to improve the
social conditions of the Indian people.

The mission believes that salvation can be achieved
through selfless service to others. This is based on the
Hindu concept of karma yoga, which is the path of
selfless action. The mission's motto is "Service to man
is service to God."

The mission has a wide range of social service
activities, including running schools, hospitals, and
orphanages. It also works to uplift the poor and
marginalized.

So, the answer is (c).

Ques 32. ANS (A) Solution:

T AT 1336 5. H [ASITR I ST RIGAT B
ISTART &1 RITIAT §RER TYH 3R I HTS b1 I
EREE TRl

faSr TR T (R Pefes arored Hi &gl ol 8) =
SR YR & SHTABI & B SR fava, ST sy
3R HERIY & o fowdl &f yffl BT Fafd Hear
HITH S & &1 HIST G I TYH 31R garh I
TUH 1 1336 H faeet Hedid H G fo gireie &
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The Sangama Dynasty established the kingdom of
Vijayanagara in 1336 CE. The dynasty was founded by

Harihara | and his brother Bukka Raya I.

The Vijayanagara Empire (also called the Karnata
Kingdom) covered much of the region of South India,
controlling the lands of the modern states of
Karnataka, Andhra Pradesh, Tamil Nadu, Kerala, Goa
and some parts of Telangana and Maharashtra.

Harihara Raya | and Bukka Raya I, two brothers from
the Sangama Dynasty, founded the city of Vijayanagara
(present-day Hampi in Karnataka) in 1336 during the
reign of Muhammad bin Tughlaq in the Delhi
Sultanate.

Ques 33. ANS (D) Solution:

T (d) §1 ¢ aal1sd 3 1757 H @R &) deTs & S
HU BT Aq a1 UT| T8 TS fofewr 3= SR ok

g A fSgiH YRd | fofe=r 2mem & wig=n |
Tgayuf YT TS ot
WA &1 g fafewr Swe gfear Ut ok §a & a9

& & qST T T

RITC AR & A H S 1STT HU B ghisal -
S & 3iferd Tare RR161-3a-drern 3R 3 Wit
TR BT 1 & RIaTth Hial GHTeT |
T YRA B SO &1 Ugell 981 ofid gol Bt 3R Sfdd:
YR | fofesr siufafkie wmem &1 g 3@t
The answer is (d). Robert Clive led the English company
in the Battle of Plassey in 1757. He was a British
military officer and administrator who played a key role
in the establishment of British rule in India.

The Battle of Plassey was fought between the British
East India Company and the Nawab of Bengal, Siraj ud-
Daulah.

Troops of the East India Company, led by Robert Clive,
came up against the forces of Siraj-ud-Daulah, the last

Nawab of Bengal, and his French allies.

It marked the Company's first major victory in India
and ultimately laid the foundations for British colonial
rule in India.

Ques 34. ANS (D) Solution:

Wiﬁwﬁ@%ﬁ%mmﬁwﬁ

RIEEII
BRER 3R g1 ot Yewie-faa-grrares &1 91 o I
%ﬁ 1336 T JITYST AIc! & dc UR ISR &1 RITGHT

[
ISR HrTsy &1 ey grd §
ISR &1 gefmierd! gRT feeiR Imured & A 9§ ot
SIBIRSIGIRIN
Harihara and Bukka established Vijaynagar on the bank
of the Tungabhadra River
Harihara and Bukka who were soldiers in Muhammad-
bin-Tughlaq's army founded the Vijayanagar on the
banks of the Tungabhadra River in 1336.
The capital of Vijaynagar Kingdom is Hampi
Vijaynagar also known as the Kingdom of Bisnegar by
the Portuguese.

Ques 35. ANS (B) Solution:

BIiSel Heledd 3fH dR TR 8% 41l 1 fader & 10 e
a® 10 et ot srafy & gt 3|

The Hornbill Festival typically takes place over a period
of 10 days, from December 1st s

Ques 36. ANS (C) Solution:

Solc 2023 1T Uit drsl W Hxd 2, R fag w3
"&H%W$mmﬁmwmhmﬁaﬁwﬁ"
Eii
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The Budget 2023 focuses on seven priorities, which the
FM called the "Saptrishis guiding us through Amrit
Kaal”.

These are - inclusive development, reaching the last
mile, infrastructure and investment, unleashing the
potential, green growth, youth power and financial
sector”.

Ques 37. ANS (C) Solution:

HRA B 6 HITifere &1 | fawierd fovan o g o-
IR SR gaftR udd

I A
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India can be divided in 6 physiographic regions-
Northern and North-eastern Mountain.

Northern Plain.

Peninsular Plateau.

Indian Desert.

Coastal Plains.

Islands.

Ques 38. ANS (C) Solution:

I HT-TRADBT FRT AT g | TR el & |

I8 TIeR fg SMieart <dl-qadrsfl & Jw | 7
ST § 1 U8 STaRT g § Uey g8t o guisit # 9 U
1 TaTE S & fTT ST STl 2 1 NT SR IeTd &1
Sammakka-Sarakka Jatara is celebrated in the state of
Telangana.

The festival is celebrated to honor the Hindu Tribal
goddesses. This Jatara is known for witnessing one of
the largest people gatherings in the world. People offer
Bangaram.

Ques 39. ANS (D) Solution:

el ST (d) & | UfSd I AR TF A IRt
aree U, f518 9 JTeria 1 Uohel STitd dTedi &1 &1
g feam S gl

ARt T G g IR Tl AT § o URuRe =0
3 fegear Sara S & T aredd & w0 § U
forar SITaT ]| graiifep, Ufed I AR 31U Ipy ared
3R URURS T &1 ST T SATSSH & Hemd d
AR DY Thel d1edial & U H Aol - | ad |
38 dY 2005 T YR & gL qared ANTRG T, U
fqumoT & e fovam T o)




The answer is (d). Pandit Ram Narayan was a popular
sarangi player who is credited with making the
instrument as a solo concert instrument.
The sarangi is a bowed stringed instrument that is
traditionally used as an accompanying instrument in
Hindustani classical music. However, Pandit Ram
Narayan was able to popularize the sarangi as a solo
instrument through his virtuosic playing and his
innovative interpretations of traditional ragas.
He was awarded India's second highest civilian honour,
the Padma Vibhushan, in 2005.
Ques 40. ANS (A) Solution:
e TIPRUT UIGRT U ol i x18d Bt dudl & g
TP FA 2
g Us Aife eg § et 2mfeee 31 § TR YR
DA
AP T8 SHeTad 39 G P S SR It § oA
TR afad &1 fexrea # forn § o a8 99 aafad &t 396
THE U DR
g WIeR FAM <71 ¥ forTed # 3 & 9w aafaand
AT BT Th Had g
Habeas Corpus writs is a challenge to the legality of a
prisoner's detention.
It is a Latin term which literally means "to have the
body of'.
Under this the court issues an order to a person who
has detained another person, to produce the body of
the latter before it.
This writ is a bulwark of individual liberty against
arbitrary detention.
Ques 41. ANS (D) Solution:
3% TR 98 ST & & o R Hla 8 (URd & AMA H,
RS 3RR TR Sh! (@OITs Sl Bt 9gd &t
TP U & w0 § U1 YR <dl 8
YRA B, YR Retd §% o9 &= Fufid H=ar gl
TS 2020 0P, 9% &R 4.65% B
Bank rate is the interest rate at which central bank (In
case of India, RBI) lends money to domestic banks
(Commercial Banks), often in the form of very short-
term loans.
In India, the Reserve Bank of India determines the bank
rate.
As of May 2020, the Bank Rate is 4.65%.
Ques 42. ANS (D) Solution:
gﬁrw (d) § T TR ¢R7 & ITRIES o4 H Ryd

I
g 5,545 HIcR (18,192 ic) BT SdTs W /YA § 3R
ITRIGS & Tedd & Hl fossd I Sisdr g1 T8 R U
BT S Tiqed § iR AFRRIGR A &1 A/ B
arat el gR  SHeT JudT faan ST g1
Ty a1 R=f Rifdsn & St ar o=f sReumad uewr H iR
RIS A1 &1 ferTad vem & fyd 5
3T, W SR (d) B!
The answer is (d), Mangsha Dhura Pass is situated in
the state of Uttarakhand.
It is located at an altitude of 5,545 meters (18,192 feet)
and connects the Garhwal region of Uttarakhand with

Tibet. The pass is a popular trekking destination and is
also used by pilgrims traveling to the Manasarovar
Lake.

Nathu La Pass is located in Sikkim, Bomdi La Pass is
located in Arunachal Pradesh, and Baralacha La Pass is
located in Himachal Pradesh.

So, the answer is (d).

Ques 43. ANS (A) Solution:

feT 71T BT, fased (a) T STHet Aead Hul
SfAfH & dgd ST T o, S b et S B
STeact Sead &I HuHl HAMFTH, 1956 Bt URT 25 &
qed o TR-aTHP), Tgac frfies oo & wu
Goitpd fosam T T |

g HReIarsl SR o feduR®! Afgd &5 SR g a1
gwﬁﬁm‘sn S gfardt gian 3R Ja1 yeH &l
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STt & IR #:
I Ud a1 R (GST) HRd B a¥gaft 3R Jaraff ot
3MYfef TR IUTNT fpT O a1 de H1 STRIVGRY 3|
TR GUEY & oy gt 3R Jarsil Bl Ui SHeHT-3faT
FR Tia! § fayIiord foam a1 &: 0%, 5%, 12%, 18% 3R
28% | gTalltap, USIferad ITal, HIgd U 3R farerelt TR
SNTEc! & ded $R el AT STl |
g HR HRA IHR GRT HRA & JAU P 101d F=NeH
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ST 3 &g 3R I BRI §RT TNE T HiSlel Hs
B B SRTE o il
From the given statements, option (a) GST network was
formed under the Companies Act, is correct.
GST Network was registered as a not-for-profit, private
limited company under section 25 of the Companies
Act, 1956.
It provides shared IT infrastructure and service to both
central and state governments including taxpayers and
other stakeholders.
About GST:
The Goods and Services Tax (GST) is a successor to VAT
used in India on the supply of goods and services.
Goods and services are divided into five different tax
slabs for collection of tax: 0%, 5%, 12%, 18% and 28%.
However, petroleum products, alcoholic drinks, and
electricity are not taxed under GST.
The tax came into effect on 1 July 2017 through the
implementation of the One Hundred and First
Amendments of the Constitution of India by the Indian
government. The GST replaced existing multiple taxes
levied by the central and state governments.
Ques 44. ANS (D) Solution:
YGTR @SITR) 23 A/ 1757 ! fefewr T4 g1
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Chandernagore (Chandannagar) was a French colony

captured by the British Navy on 23 March 1757.

Chandernagore was the administrative center of the

French East India Company.

The battle was fought between France and Great

Britain.

British East India Company was led by Robert Clive and

Royal Navy was led by Charles Watson.

They bombarded and captured Chandernagore

(Chandannagar) in March 1757.

Ques 45. ANS (B) Solution:
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Krishnadevaraya, the most famous ruler of

Vijayanagara, composed a work on statecraft in Telugu

known as the Amuktamalyada.

Amuktamalyada describes the story of the wedding of

the Hindu Lord Ranganayaka an avatar of Vishnu and

Goda Devi aka Andal the Tamil Alvar poet and

daughter of Periyalvar, at Srirangam.

Krishnadevaraya was the king of the Vijayanagara

Empire reigning between 1509-1530.

Ques 46. ANS (C) Solution:
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The Sonoran Desert is located in Mexico and the

United States. It is the hottest desert in both Mexico

and the United States. It has an area of 260,000 square

kilometers (100,000 sq mi).

The Sonoran Desert is a biodiversity hotspot, with over

2,000 plant species and over 500 animal species. It is

home to the saguaro cactus, the organ pipe cactus,

and the prickly pear cactus. It is also home to the

jaguar, the coyote, and the roadrunner.

Ques 47. ANS (C) Solution:
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|
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The answer is (c), Satwiksairaj Rankireddy and Chirag
Shetty.

Satwiksairaj Rankireddy and Chirag Shetty won the
Korea Open badminton title in Men's doubles
specialists’ category. They defeated world No. 1 Fajar
Alfian and Muhammad Rian Ardianto of Indonesia in
the final, 17-21, 21-13, 21-14. This was the Indian duo's
fourth title of the year and their first in Korea.

Chirag Chandrashekhar Shetty is an Indian badminton
player. He and his partner, Satwiksairaj Rankireddy, are
the only men's doubles pair from India to win BWF
World Tour 1000 series and be ranked inside the top
10 of the BWF World Ranking, with a career-high
ranking of 2.

Ques 48. ANS (A) Solution:

TS I (a) A BIHA I B
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Ugell AfSAl T&=d & | ToTgT =1dT A fUsd 80 TP 3R
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The answer is (a) , Phangnon Konyak.

Phangnon Konyak became the first woman member
from Nagaland to preside over Rajya Sabha.

The BJP leader broke another record last week when
she became the first ever woman member of Rajya
Sabha (RS) to be appointed to the panel of vice-
chairpersons.

She is also the first woman to be elected to Rajya
Sabha from Nagaland (April 2022) and the second
woman from the state to be elected to either house of
the Parliament or the state assembly.

She is the State President of BJP Mahila Morcha,
Nagaland.

Ques 49. ANS (C) Solution:
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&1 ST 3R fIHRT TS (DRDO) A fegd Hed
F BT S SR, $a Urd fPrarse - gadh, oiffy, sy,
0T 3R Prera fasfa & 12|
3 3ifth BRIR (1999), HRA & FHERd #9 3R WRA &
Jpafa Sf TS, 3egd o BT TG 51 38 S
3R 3701 forart = forar i
The book "Dr. APJ Abdul Kalam: Memories Never Die"
was written by Dr. Nazema Maraikayar and Dr. Y.S.
Rajan. So, the answer is (c).
This book is an English translation of the Tamil book
‘Ninaivugalukku Maranamillai’. Written by two people
closest to A.P.J. Abdul Kalam, his niece Dr. Nazema
Maraikayar and the distinguished ISRO scientist Dr. Y.S.
Rajan.
About Abdul Kalam:
Abdul Kalam was an Indian aerospace scientist and
statesman who served as the 11th president of India
from 2002 to 2007, and widely referred to as the
"People's President".
He is known as the Missile Man of India for his work on
the development of ballistic missile and launch vehicle
technology.
During Abdul Kalam's tenure in the Defence Research
and Development Organisation (DRDO), a total of five
missiles - Prithvi, Agni, Akash, Nag, and Trishul - were
developed.
Wings of Fire (1999), is the autobiography of the
Missile Man of India and President of India, Dr. A. P. J.
Abdul Kalam. It was written by him and Arun Tiwari.
Ques 50. ANS (C) Solution:
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The answer is (c). Max Verstappen won the 2023
Belgian Grand Prix. He started the race in 6th place due
to a gearbox penalty, but he was able to work his way
up to the lead and win the race.
Defending Formula One champion Max Verstappen
emphatically won the Belgian Grand Prix for an eighth
straight win and 10th overall of a crushingly dominant
season.
Max Emilian Verstappen is a Dutch and Belgian racing
driver and the 2021 and 2022 Formula One World
Champion. He competes under the Dutch flag in
Formula One with Red Bull Racing.
Ques 51. ANS (B) Solution:
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Ques 52. ANS (C) Solution:

+4 +44 +4 ++4
W W wlT
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Ques 53. ANS (C) Solution:
YGDHIY B SIJUR, Paradise, Paradoxy, Paradrop,
Paraffle, Paranoia
RT Reg INTT: Paradrop
Acc. to dictionary, Paradise, Paradoxy, Paradrop,
Paraffle, Paranoia
Third word would be : Paradrop
Ques 54. ANS (D) Solution:
Ques 55. ANS (B) Solution:
Ques 56. ANS (D) Solution:
3T 7T FHipRU R fdebey (d) forg @vme -
12+4x4-6+6=12
T 3 BODMAS ¥ 8d I ©
3x4-6+6=12
12-6+6=12
18-6=12=>12=12
Put option (d) signs on given equation —
12+4x4-6+6=12
We solve it with BODMAS
3x4-6+6=12
12-6+6=12
18-6=12=12=12
Ques 57. ANS (C) Solution:
Tt 31eRt ot STt wfafdd ot ga B & 918 gHA U
fo fawed c IRt g1
after comparing water image of all letters we find
option C is correct.
Ques 58. ANS (D) Solution:

In these clusters there is a pattern of (_+2_+4 )

A C G G I M M O S s U zZ
lelel lelel lelel lelel
+2  +4 +2 +4 +2 +4 +2 45

Ques 59. ANS (B) Solution:
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»
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So, 1 will be on the opposite surface of 4.

Ques 60. ANS (D) Solution:
Ques 61. ANS (B) Solution:
Ques 62. ANS (B) Solution:
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Ques 63. ANS (C) Solution:

A, E BT T 81

A is the father of E.
VANNNO©
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Ques 64. ANS (A) Solution:




Ineg™ (1}, after interchanging, the equation becom
Tx8+26+13-5
=56+2—-5=56—-3=53
Similarly, in (11),
Bx6+15+5-7=48+3-7
=48 -4=44
Ques 65. ANS (C) Solution:
3R B IRIG 1 W gafyd fawar Sran §
Letters are arranged in ascending order.
Ques 66. ANS (B) Solution:
Ques 67. ANS (C) Solution:
Ques 68. ANS (B) Solution:
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Ques 69. ANS (B) Solution:

A DV I C E A B RO A D
+2l+al+6l+8l+101 +121 +2l+4l+6l+8l+101 +121
CH B QM Q C F X W K P

Ques 70. ANS (C) Solution:
321 290 259 228 (197)
lool lool lool loo]

31 31 31 -31

Ques 71. ANS (C) Solution:

VLESQLRS/VLESQLRS/VLESQLRS

Ques 72. ANS (C) Solution:

121 + 36 = 157

108 + 36 = 144

216 + 36 = 252 # 254

169 + 36 = 205

Ques 73. ANS (C) Solution:
92T & AR,

5T, D, B FTATHT AT & 2 D, BFT AL

Ques 74. ANS (C) Solution:

Logic: N&@WWW+%§WW1§G{&@@
=T

CAT=3+1+20=24+3=27
ANIMAL=1+14+9+13+1+12=50+6 =156
SPARROW = 19+ 16 + 1+ 18 + 18 +15 + 23 = 110 +
7 =117

Logic: Place Value of Alphabets + No. of letters in
given words

CAT=3+1+20=24+3=27
ANIMAL=1+14+9+13+1+12=50+6 =156
SPARROW = 19 +16+1+ 18 +18 +15 + 23 =110 +
7 =117

Ques 75. ANS (D) Solution:

TS ®HH2,5,1,4,38

Correct Order 2,5, 1,4, 3

Ques 76. ANS (B) Solution:

- A SR = x Afto, W = 2x QHt
A H1 9N = 2 (do + o) =24

2(x+ 2x) = 24
3x =12
x=4

To = 4 9ft, S0 = 8 &t
AT F o = TEE X HSE
=4 x 8 ¥f2 = 32 Qw2

Ques 77. ANS (C) Solution:

\/xz +y2 =25

x2 + 2 = (25) = 625

= 2x
x2+(2x¥=625
x2+4)22=625
5x2 = 625

625

=T=125

x= 125 = 55
Ques 78. ANS (C) Solution:
HHA JAOHA = X Fo
= = fagad - gasd
= (1000 - x) %o

” xx8x9
1000-x= 150x12

(1000 - x) x 100 = 6x
100000 - 100x = 6x
— 106x = 100000
100000
*= 7106
aa: qae = 943.40 %o

Ques 79. ANS (B) Solution:
A 3k B %1 79 = 25,000 x §=6250;°

oA, 799 A 3R B 1 w14 3R 11x 31
14x + 11x = 6250
25x = 6250

6250
e T 250

=@ A 31K B 1 %591: 14 x 250 = 3500 7u 2750 %o
am@: A 3Rk B 1 3@ %aw:
100 100
3500 x 25 aar 2750x—g

= 14,000 %o dem 11,000 %o
Ques 80. ANS (C) Solution:

198 =2x3x3x11

78=2x3x13

19Bam 78 w1 9w =2x3 =6

Ques 81. ANS (B) Solution:

H{Ofaws A =5+3+1=9

Wil &1 g = 1,49,500 x 9
= 13,45,500 %o

Ques 82. ANS (C) Solution:

(Z_é)xLZxé
372)"5%5%7

3
—X—4—X= = e= =]
= +5

= 943.396

ele
sl=

Ques 83. ANS (C) Solution:
o H/& g8 = x km
X X
2x21 2x24
x[8+7
=> E[_I?S_] =10
_ 10x2x168
=715

Ques 84. ANS (A) Solution:

10

= = 224km




e = 8,750 %o ‘
= = 8750x§6§= 350 x 6 = 2100 %o
_ =< X100
e

2100x100  84x100

8750x8 ~ 350x8

84x10 840
88 T2 0T
Ques 85. ANS (B) Solution:
- 122,53 62 1
T = 12§X2zk.m. = ?"lem

_ 31x11 341
= ‘7 0 km. = ka' = 34.1 k.m.

Ques 86. ANS (B) Solution:

100 1
ot = 5-0.30 = 4.70 HA
g 1 9H # 4% 99 9 = 4.70 - 1.00 = 3.70 &R

0.30 30
m:ma’h’tmgﬁm:( > xloo)%=(7)%
= 75%

Ques 87. ANS (B) Solution:

2160
A = —— = o
180 12 @ w8 = 2160

&A: WA, 12 991 w8 2160 areh wen 36 7ur 60 T

Ques 88. ANS (C) Solution:

T + IR + SfdEH = 89x3=267

oI + fas + SfAg™T + HIST = 88.25x4=353
HIST § U7 3ich = 353-267=86

Mathematics + Science + History = 89x3=267
Mathematics + Science + History + Language =
88.25x4=353

Marks obtained in language = 353-267=86
Ques 89. ANS (D) Solution:

15
= 1+—
s = 60,00,000 ( +100)
= 60,00,000 x % X 23 = 15,000 x 529
= 79,35,000 ¥9=
Ques 90. ANS (C) Solution:
12x9 _ 36
TH WY FH FH 6 T = 21~ 7

(fwar+ih)—>1ﬁ=|—>§76—m

(ﬂ:m+an)—+4f<a—>zm

9
7 2
W wH = 1—§ = ;qm
Ques 91. ANS (C) Solution:
The insert, cap lock and num lock are all examples of
Toggle keys. A toggle key toggles the input from a
group of keys on a keyboard between two different
input modes.
TIC, HY Al SR AR Al It T Hioral b
ETEXUI & | TP T Fofl &l SAT-SHTHT $7YC HIS &
¥ PIEI8 W Sl & g ¥ 39Y¢ DI T HRdl g
Ques 92. ANS (D) Solution:
Ctrl + Left Arrow is the shortcut key combination to
move one word to the left.

Ctrl + Left Arrow12$31?c{ﬁﬁl'l'sﬁ @?ﬁﬂﬁ%%ﬁ
Yiéame ol YareH g

Ques 93. ANS (D) Solution:

User manual provides you detailed installation and un-
installation instructions, system requirements, step-by-
step operation, etc.

SUGHTHA A3 3HTh! forfel SRR 3R 31-
SRR T, ReH SaRaehdTt, IRUT-&-R00
e 3T e Bt 2|

Ques 94. ANS (C) Solution:

CCFLs stands for Cold Cathode Fluorescent Lamps.
CCFL 1 HAd Bics HUTS TIRINIC U |

Ques 95. ANS (C) Solution:

Sheet Tab is used to switch between worksheets.

xfie ¢9 &1 IUANT aahRiic & S Rad A & o fomar
STl B

Ques 96. ANS (A) Solution:

The peer-to-peer network is a type of network where
each computer is connected to the other to share
resources without requiring a separate server system.
In this network, computers can be connected via an
ad-hoc connection.

HeR-g-fleR Aead U UHR &1 Acad § ol Tdd
HICR TS 3T FaR ReH &1 TIRIdHdl b fomT
THTYAT DY I FRA P T R A JST AT 81 59
Feadh § HECR| &I dd HaRH & HIeH I SISl S
qHAT g

Ques 97. ANS (A) Solution:

ADP is a data file format created by Microsoft Access.
ADP Microsoft Access GRT ST 7T Ueb ST BIgal
WEU g

Ques 98. ANS (B) Solution:

Linux is can be used for various purposes i.e Web
Serving(Nearly 60% of all websites on the Internet are
run using an Open Source program named "Apache."),
Networking, Databases, Scientific computing.

forTeRT o1 IuaT faftre Ie<al & e fobar &1 gepan &,
O 99 G (FerAe R TIHT 60% dadTse "3Ura
I 30 T YIUTH BT UG RSP Tdls ol 8),
eafd, ST, RS Hf|

Ques 99. ANS (A) Solution:

In MS Word, Margins, Size and Orientation is available

in Page Setup under Page Layout Tab.
T 7 A 091 ST o 3 S 91 S A IR

TS 3R SN IUes B

Ques 100. ANS (B) Solution:

An icon is a small graphical representation of a
program or file that, when clicked on, will be run or
opened

T 3D bl U 1 igd &1 Uh BIcT Uthobdl
gfafafia 8, 5 W faas &= W, Iamr a1 Qi s

Print




